Die dreistufige Erfolgsrechnung und deren Auswertung

	Aufwand      
	3-stufige ER
	Ertrag
	
	
	

	Handelswarenaufwand
	300
	Handelserlös
	590
	
	Bruttogewinnzuschlag
	

	Bruttogewinn
	290
	
	
	
	Bruttogewinn * 100
Handelswarenaufwand
	

	
	590
	
	590
	
	
	

	Gemeinkosten
	
	Bruttogewinn
	290
	
	Bruttogewinnquote
	

	· Personal-A
· Finanz-A
	100
5
	Finanzertrag
	10
	
	Bruttogewinn * 100
Handelserlös
	

	· Abschreibungen
	35
	
	
	
	
	

	· Verwaltungs-A
	50
	
	
	
	Gemeinkostenzuschlag
	

	· Sonstiger Betriebs-A
	90
	
	
	
	Gemeinkosten * 100
Handelswarenaufwand
	

	Betriebsgewinn
	20
	
	
	
	
	

	
	300
	
	300
	
	Selbstkosten
	

	
	
	
	
	
	Warenaufwand + Gemeinkosten
	

	a.o. Aufwand
	15
	Betriebsgewinn
	20
	
	
	

	Imm-A
	6
	Imm-E
	10
	
	Reingewinnzuschlag
	

	Unternehmensgewinn
	9
	
	
	
	Betriebsgewinn * 100
Selbstkosten
	

	
	30
	
	30
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Berichts- oder Staffelform

	+ Handelserlös
	
	590

	- Handelswarenaufwand
	
	- 300

	= Bruttogewinn
	
	= 290

	- Gemeinkosten
	
	

	· Personal-A
· Finanz-A
	100
5
	

	· Abschreibungen
	35
	

	· Verwaltungs-A
	50
	

	· Sonstiger Betriebs-A
	90
	- 280

	+ Finanzertrag
	
	10

	= Betriebsgewinn
	
	= 20

	+ Immobilienertrag
	
	10

	+ a.o. Ertrag
	
	

	- Immobilienaufwand
	
	- 6

	- a.o. Aufwand
	
	-15

	= Unternehmensgewinn
	
	= 9
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